6C8(1) - Solve missing number problems involving addition, subtraction, multiplication and division

[ ] x 7.32 = 7320

What is the missing number?

600 x [ ] = 42000

What is the missing number?

What number goes in the shaded box?

[ 1x9 =720: 8

What is the missing number?

Number cards

3|lo||2||1||7

Number statement

+ —

Use the 5 number cards to make the number statement.

Which number goes in the shaded space?

Number cards

O[[21{|9]||6]|5

J

Number statement

X

Use the 5 number cards to make the number statement.
Which number goes in the shaded space?




